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a) 4¥36 kmollt
. you 0,04

Agus, in -360,04=1,44 kmollh

Ages , out --0,1
. 1,44--0,144 kmollh

V
"
Yum . (1-0,04)=34,56 kmollh

V, = V 't A-
gas, out

--34,56+01144

V,
= 34,704
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"
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loot -4,15107
=18.58kmollh-Lmin-V.LY""

- %)
= 34,56 '

y, , so
✗¥" - Xo

⇒ Not possible , L < Lmin

b) 1)
,

The absorption factor is given byLo
, Xo
,

vi. Yi
' A=¥=f¥p =P . ¥

I

•
To increase the absorption , we can

j i • Increase the pressure of the gas
P

• Increase Lo

⇒ Which increases the absorption and
N also the absorption factor

0

UN" Mm LNYN
, ⇒ I would choose to increase L as it

is most cost effective
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b) 2) Viva = 36 kind /h

YN-11=0,04

L' =L0=2 . Linin =

37.17kmotlh-xo-OV-VN.nl/l-Q04)--34,56kmol/h-Agns.in
= 36-0,04=1,44 kmollh

Agus ,
out = 1,44 kmollh -0,1=0,144 knot /h

A Liquid, out = 0,9 . 1,44=1,296 kind /h

V1 = V' + A gas, out = 34,56+0,144=341704 kmollh

y , . As"t_=%µ=4⇒
↳ =L

'

-1A liquid put -37,17+1,296=38,466 knot/h

✗
µ
. A";?÷='j%÷, --010337€

3) Eq -line : y 0,611

Op - line : Straigh curve between (Xo , y , ) and (✗iv. yw.nl
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4) v= ¥

q , n.pt ,
36km414 • 0,08314%1*-11^29814=892.1034--892 mYh

1bar

= 0,247 m% 01247 Ñ%
= 0,1235 m2

⇒ He
=

2m¥
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He = 0,1235 m2

Ac = a- (E)
'

= * ¥ ⇒

D.tl#-MD=4'-j5mT7=gD--Oi397M--


